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Ideals for irreducible component#ﬂ)f Xpar

I = (—2u% ™ 4 20—, 200 — TS - 420+ 6, ut =300 - 6u— 1)
Iy ={b—-a, —v?a+a®>—au—u—1, v*+u?—1)

* 2 irreducible components of dim¢ = 0, with total 67 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

L I} =

ag =
0
as = \u
1
az = u2
—u?+1
a; = —u?
U
a5 — u
—u3
ar = \—ud+u
—u% 4 TuS 4 2y —3
arr = \ub0 — 205 4 - 4 8u* + fu
R R |
2 2
as = (éu‘r)g u®8 + +2u? + gu)
1,58 57 3
(s
2 = \—gu” +u + -+ ju°tu
u® 4+ u
ag = \ud —ud+u
2050 + 8y + ...+ 12u — %
aip = %673u59+ +3—21u2 U
u59+1u58+ 8u—%
agz 1 60+7u58+ _3u+
(ii) Obstruction class = —1

(iii) Cusp Shapes =

713 60+11uo9+

+29u7—
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_3u60+..

-+ 6u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cg w1560 4+ 4 3204+ 1
Ca,Cs w +3u0 + -+ 6u+ 1
c3, Cy ubt + w0 + -+ 288u + 64
C7,Cg,C11 u61+4u60+"'+u+1
C12
c10 u®t — 140% + - + 1883u + 233




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4, Ce Y% +65y%° + - + 360y — 1
€2, C5 Yol —15y%0 + ..+ 32y —1
c3, Cy yO! +35¢%0 + ... — 48128y — 4096
€7, ¢8, 11 Yo =70y 4 33y — 1
C12
c10 YO + 149%0 + ... — 820731y — 54289




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.903295 + 0.4627461
a = —0.695546 — 0.5628691
b= —0.271804 — 0.0087931

1.64912 + 3.336231

—8.90726 — 4.062801

u = —0.903295 — 0.4627461
—0.695546 + 0.5628691
b= —0.271804 + 0.0087931

1.64912 — 3.336231

—8.90726 4 4.062801

0.965632 + 0.0714661
0.255352 — 0.8114551
b= 0.583357 — 0.4674161

u =

a =

—1.45506 + 1.382931

—14.5746 — 4.77811

u= 0.965632 — 0.0714661
= 0.255352 + 0.8114551
0.583357 + 0.4674161

—1.45506 — 1.382931

—14.5746 4 4.77811

0.891866 + 0.3718751
0.025117 + 0.3536931
0.48374 — 1.478211

—9.20574 — 3.829831

—18.3699 + 4.75251

0.891866 — 0.3718751
0.025117 — 0.3536931
= 0.48374 + 1.478211

—9.20574 + 3.829831

—18.3699 — 4.75251

1.027100 + 0.1225111
= —0.577403 + 0.9018031

—8.53214 + 3.200481

—17.8758 — 2.07781

1.027100 — 0.1225111
—0.577403 — 0.9018031
—1.53356 — 0.540561

—8.53214 — 3.200481

—17.8758 + 2.07781

—0.973990 + 0.4205751
= 0.605744 + 0.1944421
—0.223113 — 0.6729571

0.54572 4 6.966721

—12.0000 — 9.81751

—0.973990 — 0.4205751
= 0.605744 — 0.1944421

b
U
a
b
U
a
b
U
a
b= —1.53356 + 0.540561
U
a
b
U
a
b
U
a
b= —0.223113 + 0.6729571

0.54572 — 6.966721

—12.0000 + 9.81751




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.015250 + 0.3926411
—0.579050 + 0.1486071
0.52059 + 1.427821

—6.92985 4 9.417611

—12.0000 — 7.97101

—1.015250 — 0.3926411
—0.579050 — 0.1486071
0.52059 — 1.427821

—6.92985 — 9.417611

—12.0000 + 7.97101

—0.558526 + 0.7170481
1.30900 + 0.574111
0.615035 + 0.1292761

—2.84419 4 2.867411

—10.16234 — 3.322311

—0.558526 — 0.7170481
1.30900 — 0.574111
0.615035 — 0.1292761

—2.84419 — 2.867411

—10.16234 + 3.322311

—0.877865 + 0.7184841

= —0.507669 — 0.5732621 2.45258 4-2.747841 0
—0.710801 — 0.3192091

= —0.877865 — 0.7184841

= —0.507669 + 0.5732621 2.45258 — 2.747841 0

—0.710801 4 0.3192091

0.804516 + 0.3180311
0.196739 — 0.6061981
—0.308799 4 0.7901061

—1.74945 — 2.327791

—16.2262 4 7.63621

0.804516 — 0.3180311
0.196739 + 0.6061981
—0.308799 — 0.7901061

—1.74945 4 2.327791

—16.2262 — 7.63621

—0.958834 + 0.6515431

= 0.741491 4+ 1.0697601 | —3.94098 + 2.193911 0
= 1.03234 4 1.204631

= —0.958834 — 0.6515431

= 0.741491 — 1.0697601 | —3.94098 — 2.193911 0

> Q& €| & €|l & €| Q& €| 2 &) Q@ 8| Q@ €|l & €|l & €| & &
I

1.03234 — 1.204631




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.808720 + 0.1900861
= —1.90972 — 1.062461
—2.26441 — 0.315521

—10.29000 +- 0.536651

—18.8353 — 9.06911

—0.808720 — 0.190086.1
= —1.90972 4+ 1.062461
—2.26441 4 0.315521

—10.29000 — 0.536651

—18.8353 4 9.06911

—0.761071 4 0.3209431
1.15383 + 0.942851
1.234600 + 0.2390841

—1.85024 + 1.256081

—15.1118 — 4.89761

—0.761071 — 0.3209431
1.15383 — 0.942851
1.234600 — 0.2390841

—1.85024 — 1.256081

—15.1118 4 4.89761

0.898416 + 0.8134981
= 1.20213 — 0.991821
1.22884 — 0.868191

—4.53737 — 3.044171

0.898416 — 0.8134981
1.20213 + 0.991821
1.22884 + 0.868191

—4.53737 + 3.044171

—0.856068 + 0.8625161
—1.22457 4 2.632051
1.20834 + 2.933871

—1.50415 — 0.891261

—0.856068 — 0.8625161
—1.22457 — 2.632051
1.20834 — 2.933871

—1.50415 + 0.891261

0.820898 + 0.8999021
—2.06541 — 1.892641
—0.15813 — 2.950411

1.58971 + 7.546901

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

0.820898 — 0.8999021
= —2.06541 + 1.892641
= —0.15813 + 2.950411

1.58971 — 7.546901




Solutions to I7*

V=1 (vol + y/=1CS)

Cusp shape

= —0.886180 + 0.8391331
1.67113 — 1.827821
0.00358 — 2.867211

5.10715 4 1.323271

—0.886180 — 0.8391331
= 1.67113 4+ 1.827821
= 0.00358 + 2.867211

5.10715 — 1.323271

0.842192 + 0.8961511
= 1.85971 4 1.349271
= 0.56016 + 2.658331

9.11750 + 4.544051

= 0.842192 — 0.8961511
= 1.85971 —1.349271
0.56016 — 2.658331

9.11750 — 4.544051

—0.413830 + 0.6447351
—0.606570 — 0.0535781
—0.437841 — 0.4766731

3.19857 + 0.740451

—5.48051 — 3.339681

—0.413830 — 0.6447351
= —0.606570 + 0.0535781
= —0.437841 4 0.4766731

3.19857 — 0.740451

—5.48051 + 3.339681

= —0.921108 + 0.8278071
= —2.24258 + 1.120301
= —1.29799 + 2.869201

4.99860 + 4.888101

= —0.921108 — 0.8278071
= —2.24258 — 1.120307
= —1.29799 — 2.869201

4.99860 — 4.888101

= 0.864695 + 0.889666.1
= —1.48550 — 0.773681
= —0.87847 — 2.127231

10.20040 + 0.146261

0.864695 — 0.8896661
= —1.48550 + 0.773681
= —0.87847 + 2.127231

10.20040 — 0.146261




Solutions to I} V—1(vol + v/—1CS) Cusp shape
= 0.898542 4 0.8700611
= 0.474229 + 0.0381571 5.34141 — 3.086311 0
= 0.796656 4 0.8695341
= 0.898542 — 0.8700617
= 0.474229 — 0.0381571 5.34141 + 3.086311 0

0.796656 — 0.8695341

—0.218197 + 0.7126911
0.502777 + 0.8823591
—0.541108 — 0.9489541

—4.36643 — 5.464391

—10.79014 + 3.374821

—0.218197 — 0.7126911
0.502777 — 0.8823591
—0.541108 +- 0.9489541

—4.36643 4 5.464391

—10.79014 — 3.374821

0.928575 + 0.8527221
—0.522895 — 0.5675191
0.296827 — 0.4571501

5.24177 — 3.298591

0.928575 — 0.8527221
—0.522895 + 0.5675191
0.296827 + 0.4571501

5.24177 + 3.298591

—0.952556 + 0.8261321
2.82339 — 0.548141
2.58806 — 2.938051

—1.80666 + 7.165851

—0.952556 — 0.8261321
2.82339 + 0.548141
2.58806 + 2.938051

—1.80666 — 7.165851

—0.297713 4 0.6689241
0.038251 — 0.4314921
0.427836 + 0.7129701

2.69330 — 2.994881

—7.10794 + 4.322361

> Q& €| & €|l & €| Q& €| Q2 &) Q@ 8| Q@ €|l & €|l & &> & &
I

—0.297713 — 0.6689241
0.038251 + 0.4314921
0.427836 — 0.7129701

2.69330 4 2.994881

—7.10794 — 4.322361




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.963248 + 0.8464301
= 1.30769 + 1.411061
= 0.00611 + 2.166621

9.88678 — 6.570011

= 0.963248 — 0.8464301
= 1.30769 — 1.411061
0.00611 — 2.166621

9.88678 + 6.570011

0.979698 + 0.8365831
—1.85878 — 1.617891
= —0.64482 — 2.991451

8.68110 — 10.953801

= 0.979698 — 0.8365831
= —1.85878 + 1.617891
= —0.64482 4 2.991451

8.68110 + 10.953801

= 0.992523 + 0.8262831
2.32375 4 1.680821
= 1.36651 + 3.557181

1.04634 — 13.931501

0.992523 — 0.8262831
2.32375 — 1.680821
1.36651 — 3.557181

1.04634 + 13.931501

0.584427 + 0.1435841
= —0.768708 + 0.4143291
= 0.282890 — 0.1379291

—0.764972 — 0.0519661

—11.69477 — 1.113581

= 0.584427 — 0.1435841
= —0.768708 — 0.4143291
= 0.282890 + 0.1379291

—0.764972 4 0.051966.1

—11.69477 4 1.113581

= 0.327187 + 0.4911561
= 1.56928 —1.313671
= —0.647027 + 0.1450841

—7.50998 + 0.520391

—13.78782 4 1.070941

= 0.327187 — 0.4911561
= 1.56928 + 1.313671
= —0.647027 — 0.1450841

—7.50998 — 0.520391

—13.78782 — 1.070941
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Solutions to I}

V=1(vol + y=1C)

Cusp shape

U
a
b

0.227354
—2.03044
0.364783

—0.700986

—13.7360
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IL IY=(b—a, —v?a+a®—au—u—1, ud+u?>—1)

(i) Arc colorings

= (o)

ag —
az =
a)p =

as =

—uTa—au—u —’U,>

(ii) Obstruction class =1

(iii) Cusp Shapes = u?a + 2au + 3u® — 19

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1, ¢4 (u‘q’—uz—|—2u—1)2
Ca (u® 4+ u? — 1)

c3,Cy u®
cs (u® — w2+ 1)
6 (u® +u? +2u+1)2

C7,C8,C10 (u® +u—1)>
c11,C12 (u2 —u— 1)3
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cp (y3+3y2+2y_ 1)2
C2,C5 (v’ —y* +2y—1)°
€3,C9 ?JG
C7,C8,C10 <y2 _ 3y 4 1)3
C11,C12
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.877439 + 0.7448621
a = —1.071720 — 0.9097871
b= —1.071720 — 0.9097871

—5.85852 4 2.828121

—16.5384 — 2.71621

u = —0.877439 + 0.7448621
a= 0.409360 + 0.3475081
b= 0.409360 + 0.3475081

2.03717 4 2.828121

—19.0485 — 4.38181

u = —0.877439 — 0.7448621
= —1.071720 + 0.9097871
= —1.071720 + 0.9097871

—5.85852 — 2.828121

—16.5384 4 2.71621

= —0.877439 — 0.7448621
= 0.409360 — 0.3475081
= 0.409360 — 0.3475081

2.03717 — 2.828121

—19.0485 4+ 4.38181

0.754878
= —0.818721
= —0.818721

—2.10041

—18.9930

= 0.754878
= 2.14344
= 2.14344

—9.99610

—12.8330
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1,4 (u® —u? +2u — 1)?)(u® + 150 + -+ 4 32u + 1)
€2 (u? +u? = 1)) (u® +3u0 + - 4 6u+1)
¢3, Co u®(u®t + u® 4 -+ 288u + 64)
€ (u* —u? + 1)) (O 4+ 3u + -+ 6u+1)
€6 (v 4+ u? + 2u+ 1)) (u® + 1500 4 - +32u + 1)
C7,C8 (u? +u—1)*) (" +4u%° + - Fu+1)
c10 (u? 4+ u — 1)) (u" — 14u50 + - - - 4 1883u + 233)
€11, C12 (u? —u— 1)) (W + 40 + - u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, €45 Co ((v* + 3y + 2y — 1)*)(y°" + 65y + - - + 360y — 1)
C2,C5 ((y* —y? +2y — 1)) (%" — 15y%0 + - + 32y — 1)
€3, Co y8(y® + 35¢%° 4 - . — 48128y — 4096)
C7,C8,C11 ((y2 —3y+ 1)3)(y61 _ 70y60 4o +33y—1)
C12
c10 (y* — 3y + 1)*) (% + 1490 4 .- — 820731y — 54289)
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